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Public Administration

Paper III

TNRIITET
gyautent II1

Time Allowed : 2% Hours]
Note : This paper contains Seventy Five (75) multiple choice questions. Each

[Maximum Marks : 150

carrying Two (2) marks. Attempt All questions.

U SRd. @E U Wi

GOl : A YA THY Ueew (75) Igaar YA fol oTRd. Uoieh TR | (2)

Who put forth the concept of

constructive conflict in an

organisation ?

(A) Elton Mayo

(B) Mary Parkar Follet
(C) Max Weber

(D) Henry Fayol

The ultimate activity in Simon’s
decision-making is :

(A) Planning
(B) Designing
(C) Choice
(D) Evaluation

Management by integration and
self-control refers to :

(A) Need hierarchy theory
(B) Theory X

(C) Theory Y

(D) Path-Goal Theory

2.

gEEA=a] =EAdid GEOi=l HHhegdl

TeATeTieh! 0 Aeel 2

(A) Teed B

(B) T WY wice

(C) W\ IR

(D) B HAre

T vt gfwda Sraedt
.................... > am

INBERISE

(B) TAE-T=A

(C) e

(D) HeHHA

TehTeH STEEToH {01 T fzmromean dee
.............................. > s

(A) TS JeEmE fagm

(B) ‘&' fagm

(C) ‘=’ fagm

(D) "¥-+49 fagi
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The crux of development

administration is :

(A) Technological change

(B) Cultural change

(C) Political change

(D) Societal change at large

Major characteristics of national
bureaucracies in developing

countries are :

(A) Basic pattern of administration

is imitative rather than false

(B) Deficiency in skilled manpower

necessary for development

(C) Wide spread discrepancy

between form and reality

(D) Dominant Political party

mobilisation
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fohT YSMEATAT T

g TR

(A) TR e

(B) 9rhfae agdl

(C) USThF s

(D) SAUE GHISh 5

famaaeiia SN AHWMEE FHE

I ® SR

(A) TR JAYd GRR T Sieardan

ST STIRION 3TT]

(B) EEALSIE CIMC I CRDET °|')\\I§‘|('¢I A

A= A

(C) mfershal 9 A1 A did d%hed

(D) TSTEhIA U&=l Yl Tifaeietdr




Assertion (A) and Reason (R)
Pattern :

Assertion (A) : W e b er ' s
bureaucracy model
is described as

‘Closed System
Model’.

Reason (R) : It considered
organization-
environment

intreactions.

Select the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) is not the correct

explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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faum (A) sfor RO (R) oT® ¢

faam (A) ¢ FIE AAHWED

JTEUTE §¢ ST

YET 39U Sl
SiGH

HROT (R) : O GEEI-9IiaIu

d:fean A= L.

~

Trelt feiean Hehdihmyd drd b
IREEINE

K3 K3
-
.

(A) (A) 9 (R) Tt s=R 3Rd 31fur

(R) T (A) 3 T TRH R

fa N

(B) (A) ¥ (R) Sl SR 31Ted, Wq

(R) T (A) ¥ 3T TIRIHII A

(C) (A) T IR R, WG (R) T I%
3y

D) (A) T IF 3%, W (R) § SN
3R
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Which of the following activities are

included in staffing ?

(1) Recruitment

(2) Selection

(3) Transfer

(4) Promotion

Select the correct answer :
(A) (1) and (4)

(B) (1), (3) and (4)

(C) (1), (2) and (4)

D) (1), (2), (3) and (4)

Single unified grading personnel

structure in UK was recommended

by :

(A) Haldane Committee

(B) Fulton Committee

(C) Northcote Trevelyan Report

(D) Atkinson Committee

MAY - 21316/I11—B

TTATATRT HITAT Fdiar AT
HIfHEART 3R ?

(1) et

(2) fHere

(3) el

(4) it

I g e
(A) (1) =7for (4)

(B) (1), (3) 3o (4)
(C) (1), (2) 3o (4)

(D) (1), (2), (3) =0T (4)

TASHY] TS Ul &Ighd HITHS

Tl RITRRE o et ?
(A) ®Teed it

(B) Teed Hfydl

(C) Hfdhie Twfaam Tgama

(D) STehie wfHdl




10.

The spoils system in the USA was

based purely on :

(A) Patronage

(B) Kinship

(C) Social status

(D) Political Considerations

The principle of hierarchy of laws
as embodied in the US Constitution,

establishes :

(A) Power of Judicial Review

(B) Congressional Power to Enact

Laws

(C) People’s Supremacy

(D) Emergency Powers of the

President

10.
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(B) ST
(C) TSR =it

(D) TShIT G

SRR T Shigear=Al v dwe

oe N

ERIERIEIREIPEEIS

(A) =i A

(B) hIUHETEN HFE] L0l SRR

(C) SHad I3

(D) TIeAeTe e SRR

[P.T.O.
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11. Assertion (A) and Reason (R) 11. e (A) sufr RO (R) WY

pattern :

Assertion (A) : In UK the
executive is a
part of the

legislature.

Reason (R) : UK did not adopt
the principle of

separation.

Select the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) is not the correct

explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

faam A) ;@ TTISHSE FESAIUT ®
FHREICHSIE YN TR,
&IuT (R) fsleT favre-= dc

Tl eiel ATEl.

arell feeean SehdieHEd drea T

- -
-
-

(A) (A) g (R) Sl seR 3TTed 30T

(R) T (A) & TFH LR e

o =

(B) (A) d (R) TI sReR Ted, T

(R) T (A) & 3Tk TIRIHIU AR

(C) (A) T M R, Wg (R) T IH
3y

D) (A) § g% TR, WG (R) § SR
3T




12.

13.

14.

While discussing a budget, the

legislature cannot :

(A) given assent to the demand
(B) reduce the demand

(C) refuse the demand

(D) increase the demand

The Parliamentary Commissioner

for administration was appointed in

the UK in :
(A) 1957
(B) 1959
(C) 1967
(D) 1968

In the USA the spoil system was
discarded in favour of the ‘Merit

Principle’ by the following Act :
(A) Civil Service Reform Act, 1978
(B) Pendelton Act, 1883

(C) Hatch Act, 1939

(D) Civil Service Act of 1853

12.

13.

14.

MAY - 21316/I11—B

AdGgFHeUEaR I=9l wLa@iA1 fafeAes

foeTaed IS SHeE  SATgaT]

AU ATETCl HI0Ad Al
(A) 1957
(B) 1959
(C) 1967

(D) 1968

SAHALY WTATTUeh! hIvCT I

EUGdl AR A dearEl IR

el Bl ?

(A) AT Vel GUROT hE<], 1978
(B) USwed whUal, 1883

(C) 89 IR, 1939

(D) AP Hel SIEEl, 1853
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15. Assertion (A) Reason (R) Pattern :

Assertion (A) : France is more
unitary  than

Britain.

Reason (R) : In Britain, local
government enjoy

a certain degree

of autonomy.
Select the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) 1is not the correct

explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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15. faum (A) 101 &Ro (R) 99

fagm A) ¢+ ww faeTdan S
THIH 3.

%ot (R) foreTaed Tenteh oA
HTE M Tl
EEEIUGIGH

Trell fooiean Feharhmyd g 94

et .

Hehdieh :

(A) T (A) 9 (R) sRIEX 3fed, 3Tfor
R) § (A) 3 Irg TR 38

(B) T8 (A) 9 (R) SRIeR 2T, 90
R) % (A) 3 Ir9 LR ATEL

(C) (A) T TR aTE, I (R) § IH
3R

(D) (A) T I TR, 997 (R) T SR
3
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16.

17.

18.

As a control process budget has a

role of :

(A) Political

(B) Economic

(C) Moral

(D) Developmental

Classical approach to budgeting

supports :

(A) Deficit Budget
(B) Surplus Budget
(C) Balanced Budget
(D) Growing Budget

Which is not a feature of diffracted

society ?

(A) High Differentiation
(B) Functional Fusion
(C) Universal Norms

(D) Achievement Orientation

16.

17.

18.

MAY - 21316/I11—B

SSIEERTeA Tas gfwaen gffen

(A) TSI
(B) Tt
(C) Sfaw

(D) fasmTHS

STRTSIAehTe SATYSTA gfeehid

(A) T AT

o o

(B) 3AIded

CHELPC

(C) Hgfeia SieTSTa=h

(D) AT TSI

o~

T FHISITE WATAUeh! hivld SfeTee]
ATE ?

(A) efereRan favriteheor

(B) hricHen HH

(C) e frm

(D) Wrefr=t eAferera

11

[P.T.O.



19.

20.

Bureaucratic Development in

democratic countries are considered
to be :

(A) Positive

(B) Welfare oriented
(C) Antithesis

(D) Democratic

Assertion (A) and Reason (R)

pattern :
Assertion (A) :

Civil servants are influenced by

political executives in their work.
Reason (R) :

Civil servants put up only such
proposals that are likely to be
approved by the Ministers.

Select the correct answer by using
the codes given below :

Codes :
(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) i the
explanation of (A)

1s not correct

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

19.

20.

MAY - 21316/I11—B

ATHIMET I TR TahmTH
.................... y

(A) HPRIHD

(B) el fyHE

(C) fatren«resh

(D) TRIMRICHR

faum (A) enfor RO (R) 9 ¢
fagm= (A) :

IMHRTT ATRR =1 R TSTeh i

HERAET G9E TSl

U (R)

AT HETUT TYTfaeh R &l

Sdia STRIE Uhidl AT HTIS

Sadra.

@l fooied Fehdishmyd Ira 99

IREEIE

i

(A) (A) T (R) Sl SR TTed ATf0T

(R) T (A) 3 T TRH TR

(B) (A) & (R) SI&l S&X 3Med, 9
(R) T (A) ¥ 3T TIRIHII A

(C) (A) & s €, 99 (R) B 9%
EIE

D) (A) T & R, 907 (R) B TN
3R

12



MAY - 21316/I11—B

921. If the President wants to resign, he | 21. TSIAEl 0 W TLUA! WAl
shall address his letter of RS 9agard ?
resignation to :
(A) WRAET H&I =R
(A) Chief Justice of India
(B) YRAM GdquE™
(B) Prime Minister of India
(C) Vice-President of India (C) T ST
(D) Speaker of Lok Sabha (D) ARG FETT
22. The Administrative Head of the | 99 JITATS TR T
State Administration is ............... . AT,
(A) Governor (A) TSI
(B) Chief Minister (B) Hq&aws
(C) Chief Secretary (C) q=a wfua
(D) Finance Commission (D) fo M
13 [P.T.O.



23.

24.

The Chief Secretaries Conference is

presided over by :

(A) Governor

(B) Chief Minister

(C) Union Minister for Home Affairs

(D) Cabinet Secretary, Govt. of

India

The executive power of state in India

isvested in ...ccevveveeneennnn.n. .

(A) Governor

(B) Chief Minister

(C) State Cabinet

(D) State Administration

23.

24.

MAY - 21316/I11—B

qed gfaarea qiee= sTeed

(A) TSTITA

(B) H&AwsH

(C) s Tefaum =

(D) SHhERMEATET HiFSs Hieg

...................

(A) T=IUTA

(B) &

(C) T HHfHEs

(D) T 9RmEA

14



25. Match List I with List IT and select

the correct answer from the codes

given below :

(@)

b)

(c)

d)

(1)

(2)

3)

(4)

List 1
Attached Offices
Subordinate Offices
Ministry
Secretariat

List II
Largest Subdivision
Executive Direction
Policy Making

Field Establishment

Codes :

@ b)) © @

@ O @ 3 @

B) @2 @ @O @3

© O @ @ @

D 1 @ @ 3

MAY - 21316/I11—B

25. =T I 3ft =l 11 < Segen SAfo1 et

fCeied Fehdiehlqd Ard 3ar faer :

et 1
(@) T FHEATAT

(b) THH HEEA

(c) WEIeT™d

(d) Qfaared

et 10
(1) fasga sufaum

<

(2) SEEN feemes
(3) wror fAfHd

(4) T =TI
i

(@)

A) M)

B) @)

© @D

D) D)

®)

4)

4)

2)

(4)

(c)

(3)

(1)

(3)

2)

(d)

2)

3)

(4)

3)

15

[P.T.O.



26.

27.

The functions of Union Public

Service Commission can be extended

by :

(A) President

(B) Prime Minister

(C) Parliament

(D) Ministry of Personnel

The classification of services in India

is governed by the :
(A) Civil Service Rule, 1930

(B) Civil Service Rule, 1950

(C) Civil Service Rule, 1960

(D) Civil Service Rule, 1987

MAY - 21316/I11—B

26. HY AR A=A hrarEn for

27.

IAER Shedl 1S ITohdl.

(A) T

(B) 9dquem=

(C) ¥

(D) HIfHer HATAT

EATeTUehT ShIvTCT ShTIE WA ITEA

(A) R el 1Igl, 1930

1950

1960

1987

16
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28. The primary function of Personnel | 28. wifHer TRmEAN Wafte &wrd
Administration is : T e
(A) Recruitment (A) FEhdt
(B) Training (B) wfzrerm
(C) Manpower Planning (C) Hrergare farsH
(D) Position Classification (D) feerft aieTor
29. Manpower planning precedes : 29. WA e FREISE S
g w6 A
(A) Recruitment
(A) HIRILA
(B) Training B) e
(C) Selection () Fee
(D) Probation (D) HAET Hrerud!
30. Informal Training broadens an | 30. HIT=IRh FRIEH =reritel wrefier
individual’s : grar fasaia 8 .
(A) Faculty (A) e
(B) Knowledge (B) 9™
(C) Efficiency (C) e
(D) Relations (D) Wy
17 [P.T.O.



31.

32.

Which of the following report deals

with the relations between the

specialists and generalists ?

(A) Haldane Committee Report

(B) Sarkaria Commission Report

(C) Fulton Committee Report

(D) Kothari Committee Report

Reservation for the Scheduled

Castes and Scheduled Tribes in the

services has been provided in the

Indian Constitution under ................ )

(A) Article 315

(B) Article 335

(C) Article 365

(D) Article 375

31.

32.

MAY - 21316/I11—B

Ecileehl ShIOAT 3TgaTel fersroe i

YR TR frfed o ?

(A) & it Teard

(B) TR N 37edra

(C) Theted Hiydl 3Tgara

(D) e GiHdt TedTa

FITRd /SIS HAHE  STRET0

N et o
TR T4 0 HeTqETe

feotl emg 2

(A) %cH 315

(B) %cH 335

(C) <heH 365

(D) hetH 375

18
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33. The Union Public Service | 33 wg fiesdar STEM=N YA S23qeia
Commission of India has been | . ... 5
Il hATHITY  h{TI(d
established under the ................... of
A
the Indian Constitution.
(A) hetH 315
(A) Article 315
. (B) <het® 320
(B) Article 320
(C) Article 325 (C) e 325
(D) Article 335 (D) het| 335
34. The Railway Budget was separated | 34, @9 sfeNTI® H3 d.ic“\qujqﬂl‘“{i\q
from the Central Budget in the GE e ey faaed SI0aE
VEAT evvieeeeieeeeeiiiirreeeeeens . 3.
(A) 1920 (A) 1920
(B) 1921 (B) 1921
(C) 1922 (C) 1922
(D) 1923 (D) 1923
19 [P.T.O.



35.

36.

The term ‘Performance Budget’ was

coined by :

(A) Administrative Reform

Commission

(B) Second Hoover Commission of

USA

(C) Estimate Committee of India

(D) First Hoover Commission of

USA

The number of demands in the

general budget for civil expenditure

is :

(A) 103

(B) 106

(C) 102

(D) 109

35.

36.

MAY - 21316/I11—B

Fridell ST g YA

W Yot e

(A) TEMET GER 3TN

(B) T TR N (THIRERT)

(C) e gt (9Rd)

(D) dfect goax e (SREnT)

TR STSTSISIhTd A0 ==

AT &

(A) 103

(B) 106

(C) 102

(D) 109

20



37. Match List I with List IT and select

the correct answer from the codes

given below :

(a)
d)
(c)

d)

(1)
(2)
3)

(4)

List I
Cash budget
Dual budget
Revenue budget
Single budget
List II
France
Britain
USA

India

Codes :

@ b)) @© @

@a 2 @ 3 @O

B @ B @ @

© 3 1 @ @

D 3 @ QO @

37. g I 9 g=l 11 o oo AU @Ired]

MAY - 21316/I11—B

feeTed Fehdiehlqd Ard 3ar faer :

et 1
(@) @ TAHHeY

(b) fg sredfdeeg

(c) TRYA ALHhcT
(d) Th AfHRT
g 11
(1) wr

(2) fored

(3) SR

(4) YA

- -
-
.

(@)

A) (2)

(B) 4)

©) 3

D) 3)

()

4)

3)

1)

4)

(c)

(3)

(2)

(4)

(1)

d)

1)

(1)

)

2)

21



38. Audit in India is governed by :

39.

(A) Constitution

(B) Act

(C) Executive order

(D) British Legacy

The Union Government allocates

development funds to the states

under article :

(A) 268

(B) 282

(C) 284

(D) 285

38.

39.

MAY - 21316/I11—B

[aSlT oy

TRAHES @l & IagR FEtE

chad

STar e

(A) TSTHSA

(B) <hma<T

(C) HE®RR ST

(D) fodter W

S I ok oI

wHorarad g A= faurmn =a.

(A) 268

(B) 282

(C) 284

(D) 285
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40. Match List I with List IT and select

the correct answer from the codes

given below :

(@)
(b)

(c)
(d)

(1)
(2)

(3)
(4)

List I
Finance Commission

Comptroller and Awuditor

General
Commissioner for SCST

Central Administrative

Tribunal
List II
Plural Body

Created by act of

Parliament

an

Under Central Government

Common to Centre and the

States

Codes :

A) 3)
B) @)
©) @)
(D) 1)

@ (b)
2)
3)
4)

(2)

(c)
4)
2)
o))
3)

(d)
1)
(1)
3)
(4)

MAY - 21316/I11—B

40. 9T I 9 g 11 & Seod1 AU @]

o

=y

(a)

(b)

(c)

(d)

(1)

(2)

3)

(4)

& Fehdehlqd Aard 3ar Fae :

et 1
fo oM
sfierEn 9 HeeETaTe

fTehd STl —STHT ST

fal

T YR ARl

et 11
ERRIS

OI:

qHe= S A

g YEATET ST

%hs MM T gAA §HH

K3 -
.
.

A) 3)

(B) 4)

) 2

D) D)

(@ b)) (© @

@ @ @

@ @ @

@4 @O 3

@2 3 @
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41.

42.

Which of the following is the first
step in starting the Research

Process ?

(A) Searching sources of

information to locate problem

(B) Survey of related literature

(C) Identification of problem

(D) Searching for solution to the

problem

A hypothesis should always be :

(A) Interrogative

(B) Analytical

(C) Descriptive

(D) General

MAY - 21316/I11—B

41. GYYE gfemd=a YRl ufeel 9

GeTeieh! I g ?

(A) &3fta gaeg=ar wAfedi= e

=i

(B) Heiferd difgcara gaeqor

(C) HHEE e

(D) THE=T UGS 3

(A) IATHSD

(B) fagaisomeds

(C) IucHS

(D) wE=

24
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HINeMA RIS fAa=-TeHss 2wl

43. The interpretative phase in research | 43
desi B
esign means :
(A) Data collection (A) e SERE
(B) Data editing (B) wfed HeH
(C) Data coding (C) mfedt dfiar
(D) Data analysis D) e fea
44. 74th Constitutional Amendment does N R
44, WEATdeh! ShIVER 749 B GEKIT hetH
not apply to which of the following ? N 2 T 2
(A) Municipal Corporation (A) =ffaTE FTIReT
(B) Metropolitan Corporation ®) 2
(C) Nagarpalika
BAP (C) TrRuTfeTeRt
(D) Group Gram Panchayat )
(D) T UHI=Ed
25 [P.T.O.



45.

46.

Which of the following is not a

“graphic representation” ?

(A) Pie chart

(B) Bar chart

(C) Table

(D) Histogram

In which year the Municipal

Corporations were set up in Bombay

and Calcutta ?

(A) 1687

(B) 1726

(C) 1909

(D) 1924

45.

46.

MAY - 21316/I11—B

TTATad]  SATAEd F&adl o

et T ?

(A) 5 =T

(B) "X =T

(C) dq&t

(D) fe=mm

Helg 3T SHeTehdl HETRUTIGIehT ShIuTe

e Tonfud e ?

(A) 1687

(B) 1726

(C) 1909

(D) 1924
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47. The District and Sessions Judge | 47 fyegr syfor S =maneds 9 =
work directly under the control ERiTTETe $Td ST,
Of e, .
(A) TSeRiiEerl
(A) District Collector
(B) TsTUrA
(B) Governor of State
(C) Law Minister (C) farsft woft
(D) High Court (D) ST
48. Change in social culture and 48, HHTSTE TR S *-Lc'*'llclﬂlm sz 7
Values iS a: e m‘
(A) Linear Change (A) W=
(B) Up-down Change (B) ed-sreimre
(C) Circular Change ©) ajao"lzr
(D) Revolutionary D) HifR
27 [P.T.O.



49.

50.

51.

Renuka Ray Committee

recommended for the establishment

of :

(A) Separate Ministry of Social

Welfare
(B) Separate Ministry of Education
(C) Separate Ministry of Law

(D) Separate Ministry of

Environment

New Economic Policy’s focus

is on :

(A) System Change

(B) Liberalising Control System
(C) Closure of Unviable Units
(D) Outright Privatisation

The Incremental Model was

propounded by :
(A) H. Simon
(B) Dror

(C) Follet

(D) Lindblom

50.

51.

MAY - 21316/I11—B

(A) FHSTHETE W e

(B) famme s woe™

(C) faeia s Jae

D) TR .

qa ofrfefes envumEnT T
3 3.

(A) FTHECA

(B) =Haen THa=vrened Hishosish
(C) TH&H Theh &g
(D) 9T WeFEH

LN a N
cUl=cdl+d dlel™d HAlwY

AT qTERd whal.
(A) T=. 9rEHd
(B) IR

(C) icie

(D) fefesdm
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52.

53.

The various stages of Optimal Model
(Dror) are interconnected by

channels of :

(A) Authority

(B) Responsibility
(C) Communication

(D) Command

Out of the following which is the
major cause of Cotton Grower’s
(Farmers) suicides in Vidarbha

region ?

(A) Wrong Policies of State

Government

(B) Lack of Water Supply

(C) Entry of Multinational
Companies in Marketing BT

Cotton, Seeds and Fertilizers

(D) Lack of Electric Supply

MAY - 21316/I11—B

52. wRferfdifm wrew (SR) fafas =o

(A) TR
(B) STeTeQRI
(C) TER

(D) A=

53. foRuidial &y IR (Iash-ar=)

TR Y@ R WeAeTdehl R

Aqe ?

(A) TG A Fehi=t HROT

(B) ol oAl sHE

(C) .21 hied Heq a T Jgie

foquE S9e 9w

(D) =S qRagATEl HHA]
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54. Jan Dhan Yojana is meant for :

55.

(A) Vocational Training

(B) Housing

(C) Banking and Insurance

(D) Higher Education

MUDRA Bank’s (Micro-Unit

Development Reforming Agency)

purposes is to help :

(A) First generation entrepreneurs

(B) Rehabilitation

(C) Reconstruction

(D) Revival of PSUs

55.

MAY - 21316/I11—B

(B) e

(C) Tawzen omfur fomm

(D) s=a feraro

Heq HI0 3TE.

o0 N N

(A) dfgea fudidial SeiSTeh

(B) eI

(C) gAfHI

(D) WEeh SUHH TS
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56.

57.

Who has described ‘Modern State’ as

Administrative State ?
(A) Henri Fayol

(B) W. Willoughby
(C) Sheldon

(D) F.H. Finer

Distinction between private and
public administration initially

was :

(1) Scientific
(2) Accidental
(3) Convenient

(4) Popular

Select the correct answer :
A

(B) (1) and (2)

(C) (3) and (4)

(D) (4)

56.

57.

MAY - 21316/I11—B
SMYFH T T TWHHE T e 3T
U HITT oA R ?

INISUR RIS

(B) S=g. foredrsit
(C) wesd

(D) TH-.TE. HER

s YR 0T WS gemee TRt

A) 1)
(B) (1) wfur (2)
(C) (3) ur (4)

D) @)
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58.

59.

60.

The first ‘C’ in POCCC functions

means :
(A) Co-ordination
(B) Command
(C) Control

(D) Collaboration

The Re-Inventing Government is

also known as ......cccoeeeuuiienneeen. .

(A) New Public Management

(B) New Public Administration
(C) New Business Administration

(D) New Administrative

Management

New Public Management

emphasises on :

(A) Social Equality

(B) Lean Government
(C) Programme appraisal

(D) Management by objective

58.

59.

60.

MAY - 21316/I1I—B
Tt [POCCC] sEmed ufgen ‘¢
BN

(A) TH9T
(B) 3=
(OREREL

(D) I

R-z=g==i1 TTegTi=

G I CAC RS

(A) - dieh HIEATIH
(B) e clieh GRIMEA
(C) T IR YA

(D) & WREehE ST

TIeleh  SHAETIATET 9]

MY 3.

(A) IR FHA
(B) fowumM 3maa

(C) %A Hodd

(D) TIIE AT
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61. The following is an art of | g1 wcfics! T HeAURRT €O Feemd
implementing welfare policies into . el e
action :
(A) FHIfSer YA
(A) Social Administration
(B) ¥ocilsh IR
(B) New Public Management
(C) Toesrmam= wemeA
(C) Development Administration
(D) New Public Administration D)
62. Final stage in the evolution of | 62. ol JETEAT=AT STHE A <o
Public Administration is : NP 5
CllctledYen] onlYidl ¢
(A) Search for principles
(A) T MY
(B) Comparative study
(C) Concern for Public Policy (B) T T
Analysis ..
(C) dresiteh GRol foverommdast
(D) Development of New Public
Administration (D) A FEAE TR
33 [P.T.O.



63.

64.

Which one of the following

characteristics is not identified with

Development Administration ?

(A) Change-oriented

(B) Result-orientation

(C) Client-orientation

(D) Value-orientation

‘The staff must have passion for

anonymity.” This statement is

associated with :

(A) Hoover Commission

(B) Fulton Committee

(C) Gorwala Committee

(D) Brownlow Committee

63.

64.

MAY - 21316/I11—B

@Akl hIOt Tk fagroar foerma

gemeERt ffed A ?

(A) wEeIgE

(B) fhrenforge

(C) UTghIYHE

(D) "o qE

FHHEmY e S1faws oee 19
gfgst. & fasma ar=amei gefua

AR -

(A) BR Gt

(B) ®eted |fAdt

(C) TRaTen |fEdt

(D) el Ffht
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65.

66.

67.

Line Agency is principally a :
(A) Functional subdivision
(B) Coordinating system

(C) Advisory agency

(D) Vertical relationship

The concept of “one subordinate and
one superior” is associated with :
(A) Hierarchy

(B) Unity of command

(C) Centralisation

(D) Span of control

Who

described the classical

approach as the Engineering

Approach ?
(A) Gulick
(B) Fayol
(C) Urwick

(D) Mooney

65.

66.

67.

MAY - 21316/I11—B

Gl SITHRTUT ¥ UM

3TR.
(A) S SUfaym

(B) HH<HS HqEAq

(C) ToamR MR

(D) SETHT el

T aiss ST Tk HiTee & Hehou

(A) YSHEIH
(B) 3Tl Tehdl
(C) higahm

(D) fHE=or <mem

“orfusa gfteminn wuS eTfvEiteR]

Shemr’’ o TN med o 2
(A)’IF\FIEF
B) et

(C) fa=

D) T
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68.

69.

Non-developmental administration

is also known as :

(A) Financial Administration

(B) Personnel Administration

(C) Traditional Administration

(D) Welfare Administration

Principle of scalar chain was

advocated by :

(A) Henri Fayol

(B) Urwick

(C) F.W. Taylor

(D) Barnard

68.

69.

MAY - 21316/I11—B

R-foerE= 99 =

(A) fo<=g g9

(B) hifHer WRmEA

(C) IR WemE

(D) <hedImoT HRIEA

T 9Rge dwd hIvit Jfqued sl

qld 2

(A) T Hhard

(B) foeh

(C) Thexg. IR

(D) sAE
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70. Which of the following is relevant

to span of control ?

(1) Nature of work

(2) Personality

(3) Age of agency

(4) Location of original units

Select the correct answer :

(A) (2) and (3)

(B) (1), (2) and (3)

(C) (1), (2) and (4)

D) ), (2), (3) and (4)

MAY - 21316/I11—B

70. T FHE= WA hI0eHT SZhTIN

oy e ?

(1) MR W&

(2) SAfKIH

(3) STFVRTUT=N wHTcTaEt
(4) oo FHM &
I g feer

(A) (2) = (3)

(B) (1), (2) =for (3)
(C) (1), (2) smfor (4)

(D) (1), (2), (3) =0T (4)

71. The success of a hierarchical system | 71. TGEUN o™ a9 qreffashe:
primarily depends upon : RICK W R
(A) Decision making (A) o faeio
(B) Control (B) fe=mr
(C) Coordination (C) H=H
(D) Mutual faith (D) TER fagam
37 [P.T.O.



72.

73.

“One wheel (alone) does not turn and
keep the cart in motion.” Who is the

other wheel in Kautilya’s

Arthshastra ?

(A) People

(B) Army

(C) Amatya

(D) Kosh

“Business like the administration of
government may and should be, but

it is not business.” Who said it ?

(A) Woodrow Wilson

(B) Elton Mayo

(C) Mary Parker Follett

(D) Herbert Simon

72.

73.

MAY - 21316/I11—B

T =1k (heles) i Tredmel Tl <

SR TR ThifeeaTe STTTETTER T

g HI0A TS ?

(A) &

(B) &=

(C) 3= A

(D) s

YT IR SAEdae HA ol
A UMY o Faa™ el T Hio

" I ?
(A) g1 foewm
(B) Teed HA
(C) T Ut Hice

(D) Bee HEHA
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74. Development Administration does

not refer to :

(A) Administration of Development
Programmes
(B) Strengthening of

Administrative Capabilities

(C) Developing Political Culture

(D) Planning and Capacity

Building of Institutions

MAY - 21316/I11—B

(A) I FREFAE g9

(B) UNMEfIeh &THdre HYTeRIeh ol

fa o ~

[Aeh[Hd V]

(C) TSI G&hdl

(D) T e o emar it

75. According to F.W. Riggs, which of 75. TR AN TCEd Ao
the following is not an element of N S — N
the overlapping feature of the
Prismatic Society ? (A) ST
(A) Polycommunalism

(B) Tk STCTIEE!
(B) Polynormativism
(C) Stu=TiehamEg
(C) Formalism
(D) Nepotism (D) FER
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